ANGLE 90°

22
H=4
i
]
4 V il
.
~
o =
wy
]
x
%, o
]
.

Table to determinate the minimum distznce A o that a door with T thicknesz can open without protrusion from the czbinet and without interfering
with adjacent doors.

1= 16 17 18 19 20 21 22 23 24 25 26
K=1 A= 055 0.73 1.10 145 .20 140 R 3.90 470 6.70 6.30
K=+ A= 0.55 0.70 1.05 140 1.75 215 2.85 360 435 3.75 6.00
K=3 A= 0.53 070 1.00 1.35 1.63 210 2.65 3.30 4.00 4.75 5.53
K=6 A= 0.50 0.70 0.9s 1.25 1.60 2.00 2.50 305 370 4.20 5.20
K=7 A= 0.50 0.65 0.85 120 1.53 1.50 235 285 345 4.10 4.80
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Values given in mm .



